@ ElecTrak

Tractor

INSTRUCTIONS DOUBLE SEAT GEH-3055
. Model BD22
P ARTS of the seat. (See Fig. 2). Place a washer on the

The Elec-Trak Tractor double seat is shipped
disassembled. Check the package to see that the
following parts are included:

tightening nut of each leveler. Place each leveler
in a hole, screw it in, and leave the nut loose.

Remove the present seat from the rear battery

cover. This may be done by taking off the two
bolts holding the cushion on first, and then the four
Part Qty bolts that hold the seat in place. On the underside
T of the rear battery box cover there are four T-nuts
Arms 2 which the four bolts just removed locked into.
peab Dees L These must also be removed so that they will not
Seat Bottom 1 X - ;
1/4-20 x 1 1/2” Plated Cap Screws 8 interfere with the bolting on of the double seat.
1/4" Washers 8
5/16-18 Hex Nuts 4 Raise the rear battery box cover and place the
5/16-18 x 1 1/2” Plated Cap Screws 4 four bolts in the hardware assembly, with a washer
%ﬁ% L‘::?;gif 2 over the head of each, through the battery box lid
into the bottom of the four center holes of the
double seat. Securely tighten these four bolts. -
ASSEMBLY Flip the seat down in a norma_l sitting position.
With someone sitting on the seat center, adjust the
The instructions for assembling the seat are as four leveling feet so they are just barely holding up
follows: the seat and tighten the nuts securely. The levelers
P Bolt the side arms onto the seat bottom with four meay o tdjusten. withethy Beat erupty, ucunone
of the 1/4-20 x 1 1/2” cap screws and 1/4 washers pro- judgement must be used as to how far down the seat
vided. Bolt the back into the side arms at the two bolt will depress when sitting on it.
positions. (See Fig. 1).
WARNING: The seat switch normally shuts
There are four levelers packed with the seat off the tractor when the driver leaves the
assembly. The levelers are bolts with rubber seat. With the double seat accessory, this
bases and nuts on them. The levelers should be in- will not happen unless both occupants leave
stalled in the four outside bolt holes on the bottom the seat.
SEAT
S REAR OF SEAT
1/4-20 x 1 1/2"
BOLT HERE
SIDE ARM
ATTACHMENT HOLES
5/16-18xI1%
?T\HERE
PN
po—m g el \ /O
&L _SEAT BOTTOM % FL N
LEVELERS LEVELER HOLES
Figure 1 Figure 2
—

General Electric Company

Outdoor Power Equipment Operation
Corporations Park, Bldg. 702
Schenectady, N. Y. 12305

GENERAL @D ELECTRIC



